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1. NIL 2. NIL ;

Q.1 (a) Explain the fixed percentage micthod to calculate the depreciation charge. (8]
(b) Discuss about the economics in plant selection and explain the economics of

different types of gene rating plants, (8]

OR
A (a) What are the different factors ﬂff’"’*““g economic generations and distributions of

generating plants? e [8]
(b) A power plant has an initial ('.C?I of T2x10%, Assuming a salvage value of 15‘-'.!.'-_;
| and useful life of 25 years. | 8

(i) Find rate of depreciation by fixed percentage method.

= ¥

(ii) Also find accumulated depreciation at the end of 10" year.
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(i) 'Sﬂmr:mc of aduing unils 14]

_;ﬁ
(k) Explain the difterent methods of Iﬂa!..ling turbwy geoerators in power plants, (8]
OR -
Q‘z (“J ""hﬂ.t l'.l.{'!i "i"' ] L § T ‘; - 4
: yau mean by penalty l“"t"“_w Devive an expression of penalty faclors?
Explain its wtility for power plaat? _ (8]

(b} A _System consists of R .
WO _plants © _Mhy ¥ tens I'l'-'ﬂ-.!mn “m e

T -

figure l'l-::lmx T :
he load is at plant 2. The transimission Vine loss lations revea)
.t'_l_m___n_m_t‘-..[ ol 100 MW from plant | w0 plant 2 means a loss of 15 Mw Find
e e i il e R T

the required generation at each plant for A = 60, Assume that the incremental
e

i—-—__
costs of the two plant ace given by: B
Transmission Linc
Q= ©)

Load

de
d—FL 0.2P+223MWh  ~ 4

dc
T = 0.15 P2+ 30 UMWh
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Q3 (2) What do you mean by short 'ﬁﬂnhﬁdm thermal -cmrdiriuti@n? Explain with

Euil.ah‘lhﬂm';lpll: : -_ ﬂk _ : i ke tE] , §
] Iww&.@mihmﬂ ,ﬂi.:-ardi_llﬁgn)-' (8l
7, -
Q3 (a) Explain combined working of mp—nf}; iver and stcam plant. | | (8]
(b) Explain the reservoirs of hydro and thermal plants. ' (8]

UNIT- IV

g :

0

Q4 (a) Explain load sharing and sharing of load currents’ when two alternators are

running in parallel. e (8
(b) Write short note on infinite bus bar. ?__: 5 ' . [4]
(¢) Discuss the conditions necessary for :{Eﬁmllel operation of altemator, | I. 14}

- .1‘

Q4 (a) Explain synchronizing current and ;Fﬁref.f?r two alternators in parallel. - {8} ..

(b) Discuss the operating limits of altemators. ~ - < S

.
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Q35 (@) Explain the concept of bregk beit cost analysis in brief R

(b) Describe supply and dem; 'I "pﬂnnm'. ics. Also explain the equilibrium of the -

economy. S { | ' (8]
“OR
| Q5 (a) - Describe financial efficiencies ﬂi’:"t.!lectrica] goods and services in brief. - [8]
| (b) How does the change in d:mand:gt;curs? Explain with required curves. (8]
_l % B
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